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Note : Candidates are required to

attempt five questions in g||
selecting one question from

each of the sections A, B, C
and D. Section E g Compulsory.

SECTION - A

(students, faculty, administrators).
students, 500 faculty members, and 50 administrators_ What
is the total number of databas

handle access control for the

» union, set difference,
. join operations. How do these Operations
facilitate querying relational databases?

(10)
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55CT|ON -C
how it differ
Disc ' id Normal Form (BCNF) aﬂd-t a\:;on Whers
fromu;l\SlFBchehcm example 10 demonstrate a Situ (106;
. Provide an €X' *. .
a relation is jn 3NF but not in BCNF

Consider a ¢atabase with
customer._id, order_date,
1,000,000 rows in the table 8
calculate the total storage reau'’’
index on customer _id affect the storage

SECTION - D

a table Orders(order_id,
total___amount). If there are
d each row is 100 bytes in size,
ed for the table. How would an
requirements? (10)

Define serializability and recoverability in the context of
transaction management. How do these concepts ensure the
correctness_aﬁfd integrity of transactions? Provide examples to
illustrate the differences between serializability and
recoverability. - (10)
Explain the concept of logging in database systems. What types
of information are typically recorded in a transaction log? How
does logging facilitate the recovery process? Provide examples
to demonstrate how logging works. (10)

: SECT[ON -E (COITIpUlSOI'Y)
Answer all the guestions below:

(a) Whatare the main steps involved in the two-phase
commit:_p_rotocol for distributed databases?

(b) What |5”"e Purpose of validation in concurre
mechanisms? ncy control

(c) What i'5."5'"i‘f--r‘.’“Cliona| dependency in th .
database design? y e context of relational
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